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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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Read the instructions on the OMR sheet carefully. Use only ball Point Pen (Black or Blue) for writing / : }
shading / bubble on OMR sheet and marking your answers, _
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer |
choices (a), (b), (c} and (d). Only one of them is correct. |
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1. widde % aReies 3 |

The reciprocal of resistance is

(a)  =reesdr / Conductance (b) ST / Susceptance

(9] wfdemen / Impedance (d) ufdEmd / Reactance

2. 60W S 25 W F A div @A Sz s A 31 25 W A o wRAT |

60 W and 25 W lamps are of the same voltage rating. The resistance of 25 W lamp is

{a) 60 W &7 ¥ %5 / Lower than 60 W Lamp
(b) 60 W oI & T / Same as 60 W Lamps
(o) 60 W &I ¥ <9 / Higher than 60 W lamp

(d)  3IUUE § | =15 981/ None of the above

3. fore wee H weR Fre S TR ¥ e T 2|
In electrical machines, laminated cores are used with a view to reduce
(a) Tefedg e/ Hysteresis loss (b) e g =R/ Eddy current loss
(c) V?H'EIT FTH/ Copper loss (d) SWIE F ¥ HiE T8 / None of the above

4. 12V, 3 Ah TalideEre 92 @ 10 52 a T Feerel St o 1

The current which can be approximately drawn for 10 hours from a battery of specification

12V, 3 Ahis
(a) 0.03A (b) 03A
() 0.15A (d)y 15A

TE-04 3 March 2019
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5. . st # e afads = ye w0 B g

The main function of a commutator in a dc generator is

(a) fedi =t wHl § Fget / To convert de to ac
S (b)  TH % feeft # sge1 / To convert ac to de

E (c) wH w uH | sgert / To convert ac to ac
(d) fedt =t o=t o @ga1 / To convert de to de

6. DC uftasr &1 it Toreh l

The power factor of a DC circuit is

(a) ﬂ'ﬁlﬁ { Unity (by A/ Zero
(c) E{ﬁ'ﬁ o %Y / Less than unity (d) gﬁ_ﬁ 4 w9181 / Qreater than unity

7. o s gEe g el § @ F a Afemes s 27
Which type of fire extinguisher is suited for extinguishing electrical fire?

(a) =l - A sAfiemes / Soda — Acid Fire Extinguisher
(by e THTFaEe AW / Carbon — Dioxide Fire Extinguisher
(c) Hier st / Foam Type Fire Extinguisher

(d) 9/ Water

8. witonfem St win garn SIwaH gt gl

Power efficiency of a transformer is maximum

(a) &4 H‘Ef Fertfg anfiar 9t gar 8 / When it is loaded to its full rated capacity
(b) WEIE'Q'HTﬂ'lﬁﬂﬁm%%H@ﬁiﬁ?{Fﬁ%@f%’lﬁ%%‘@'ﬁ%/%enﬁmloadedsuch

that copper losses are equal to iron losses ;
(¢) St 98 s B9 § 9 Eld1 2 / When it is partly loaded ;
d & Iyl § © @S ey 7 war 2/ When none of the above conditions occur |

TE-04 4 March 2019
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9. V& WeEidd i T Sedl & aw syt |

When the speed of alternator increases, the frequency

(a) dgdl 2/ Increases () =edl £/ Decreases
(c) T Bt 2/ Remains same (d) 3IWIK § 9 %13 T2 / None of the above

10. fF=fofea & @ = o faga vare & g vee w5 27

Which among the following provides protection against electric shocks?

(a)  w=fRd Frw uiwe i (MCCB) / Moulded Case Circuit Breaker (MCCB)
(b) 9 &7 TRy s (ELCB) / Earth Leakage circuit breaker (ELCB)

()  TgET uiuy fRis® (MCB) / Miniature Circuit breaker (MCB)

(dy arg wiy faE== (ACB) / Air Cireuit Breaker (ACB)

11. frefafea @ & =7 # At 5,97 F wafda & % Tu s uRde =t Sien st awa 27

In which of the following motors, external resistance can be added to start the motor?
(a)  HHIG gF oIk HIel / A salient pole synchronous motor

(b)  Tdfaer™ 31 WX/ A slip ring induction metor

(c) fegme T o wies A squirrel cage induction motor

(d) @sﬁhd TeX quchur}lch qret / A wound rotor synchronous motor

12, 2OT /I 1 Yol gHIT Terdt 2l

Rotor of induction motor runs always

(a) Wﬁ‘ﬁﬁ T T/ At synchronous speed

(b) Wf%‘@" i & =en i 9 / At more than gynchronous speed -
(c) W‘%ﬂ% i & 9 T ° / At less than synchronous speed

(d) &= % fauda e # / In opposite direction to the field

TE-04 5 March 2019
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13.

14.

15.

16.

TE-04

Freren o AT § qr-Ied A
Star / delta starter in 3-phase induction motor .
(a) W T Ul e WTE@ gordl 2 / Reduces starting current and starting torque

) AT | CHSI & ST WedA HﬂTﬂ;ﬂf @l 2 / Reduces starting current but increases

starting torque

(c) YodT 9T @EEr 8 A S EFITE@ Fom@T 2 / Increases starting current as well as
starting torque

(d) Yadd AW "erdl & S wEad El?fl'l’{“f 2T & / Increases starting current and reduces
starting torque

eI Tiet hi ey, % AORITE R T % fotu amer s @ |

Synchronous motor is installed at receiving end of substation to
(a)  TRATUT % o / Improve the power factor

(b) = Sudhg Seedt H fERd/ Stabilize the substation voltage
(¢)  Iudw NI %/ & 7g / Perform both of above functions
(d) T g feret ot i %‘g’ 81 / Perform none of functions

T, A et far % R frefafag § @ i o1 aRoe wEeE S 37

Which of the following transformer connections are best suited for 3 phases, 4 wire services?
(2) A—A by A-Y

(e) Y-A (d) 390w O © g T8/ None of the above

i % EwiaT AT % Hew # Frtafd # ¥ F 9 0 %o wel Te 87

Of the following statements concerning parallel operation of transformer, the one which is
not correct?

(a)  wftonfa I gHM dieedr S9Aa B =1 / Transformers must have equal voltage ratings
(b) JRoTRE § wHE E9E AT BT =T8¢ / Transformers must have same ratio of

transformation

(c) gfmfis = g9e 34171'% T wenal SET 98 / Transformers must be operated at the same
frequency

(d) aftonfas & T kVA A 1 =8 / Transformers must have equal kVA ratings

6 March 2019
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17. U w1 i v fomivar @ 76 9
One of the characteristics of a single phase motor is that it
(a) ¥ Yol BdT 2/ is self starting
(b)  T=d: Tadt T2 @il 2 / is not self gtarting
(c) 38 ik @E?F{ AETIF 2/ requires only one winding
(@) ok ws R d EEh L WAl 8 / can rotate in one direction only
18. H T el YT [ il gl B e 1 serd fmer S ek €
The direction of rotation of a single phase induction motor can be reversed by
() T é}SQ’Hi HASH] 1 IehH ek / reversing the connection of both windings
(b)  Wadd® ‘gz'_e'.FFr T HATSM I Ichd FF / reversing the connection of starter winding
(c) BJTCLﬁ Ta=H =1 IchH Heh / reversing supply connections
()  IeeT FAIET T H I F / using a reversing switch
19. 1000 Wit qoqared TRONE i Y8R 250 V a.c B SE T 21 U e diean 400 V ¥ ol
feefarn == RIS
A transformer having 1000 primary turns is connected to a 250 V a.c supply. For a
secondary voltage of 400 V, the number of secondary turns should be
(a) 1600 (b) 250
() 400 (d 1250
20. awﬁﬁwﬁmﬁaﬁwﬁaﬁsﬁt%ﬂww e.m.fs E1 3 E2 g9 a

The primary and secondary induced e.m.f s E1 and E2 in a two winding step up transformer
are always .

(a)  ufor 4 999 29 B/ equal in magnitude

by U= E{'\Fﬁ T wont Teft 2 2/ anti-phase with each other

(c) Th @} Yo HEd 8/ in-phase with each other

(d) uftonts fgdas & 9 g Ffvsa B o 2 / determined by the load of the transformer

secondary

TE-04 7 March 2019
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21. it SATIRAT I T A T IW7 WieX T U Aled g wex Gl Af¥arg i &
feam # wear B

The main reason why the rotor of an induction motor runs in the same direction as the

rotating stator magnetic flux is to meet the requirement of

{a) o= FRA / Lenz's law
(b) %ue 99 / Faradays law

(c) FAf w1 o0 g5 99 / Fleming's left hand law
()  wIfim = g g5 FEw / Fleming’s right hand law

20 TR faues vwe e HeTis diel § 6 g R

A permanent split single phase capacitor motor does not have .
(a) Hehe! f&E / centrifugal switch (b) Yaeq aTeei / starting winding
(c) - T T dex/ squirrel-cage rotor d 3= wiferm o/ high power factor

93,  TFEEMR ! Tadaes ateear $i afy & @

The frequency of the secondary voltage of a transformer will be :
() TR Hieedr 6 BTIT{% @ %4 / Less than the frequency of the primary voltage

(b) el giwedt i 34131'% & "M / Equal to the primary voltage

(c) wrfies ateean i EFITQ'% ¥ ST / Greater than the frequency of the primary voltage
(d) et Sieear it 341‘%'% S| wgd Sl / Very much greater than the frequency of the

primary voltage

24 @ foeg viter 1 Tt o R wHEY Ui F 2 3 et FEd 2l
An electric motor in which rotor and stator fields rotate simultaneously is called a
motor.
(a) T&=/DC - (b) w1/ Induction
(c) Wﬁﬁq { Synchronous (d) Tifde / Universal

- TE-04 _ ' 8 March 2019
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25. 3 Sl ST Bt 1 Iohd foum | oo w1 wrer e 37
What is the cause for 3 Phase induction motor to run in the reverse direction?
(a)  dicedt YgrT B2 &t 2 / Supply voltage is not correct
(b) I % Yo i gl Terd 7 / Starting method of the motor is not correct

(¢) VRt @ @ UH HF IS T 7/ One fuse of the supply line blown

(d) vgrR ST Wl kel SRR T IHRA B TN § / Phase sequence of the supply line got

reversed

26.  IS] ®Ig & FFAN 9 TFEH & ford 9 ¥ T I ar i wegfa F1 78 27

Which color wire is recommended for earth connection as per ISI code?

(a) T/ Red (b) F/ Green i
(¢) =/ Blue (d) @RI/ Black

27,  WWQ: G T8 R SHaren gitaer o 2
The circuit breaker which generally cannot be serviced is

. |
y
(a) o TRy s / Oil Circuit breaker “
|
|
|
|

(b) &Y qiay faisteh / Miniature circuit breaker
(c) Y THTY = / Air Circuit breaker
(d) a1g TR gfwe =SS / Air Blast circuit breaker

28. S % HeW & FIIA HASIE HT HR
Cells in battery are connected in parallel to
(a) S 90 Se / Increase the internal resistance

{b) dieedt &HdT 9@ / Increase the voltage capacity
(©) ST &1 96 / Increase the current capacity

(d) T &1Ha] #e / Decrease the current capacity

TE-04 9 March 2019
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29.

30.

31

32.

e - s B gy Fa 2 ke

Alead — Acid cell is rechargeable because
(a)  SUH ST IOTEE WoRg Bl & / Its electrolyte is sulphuric acid

(b) ot e & 2 / It is wet cell

{c) TGt TEEE ER 3eRET B Wl 2 / Its chemical action is reversible

(d) HF seaiaTEe w1 Wi Teed 3= 2T & / Its electrolyte has a high specific gravity

Al % &9 aRuH i T wErh gt 2

The field circuit of an alternator is supplied with

(a)  EIEEHE 99/ An oscillating current  (b) ¥ 9w / A direct current

{c) Tcdrad] 9 / An alternating current  (d) TIGHN W/ A pulsating current L

eor sivex i el A (V) 3 R SemEst (7) 7 S T g e 2

The relation of the torque (1) developed in an induction motor and the supply voltage (V) is
given by the expression

(2) T @amgat @ vV & /T proportional to vV }

()  THAHYE ? V& /T proportional to V
(¢ T wwgardt @ V2 8/ T proportional to V'

(& T owHErt ? 1/ V2 8/ T proportional to 1/ V*

el wrea Al gades | 36 ARarell 3 el TR0 Hier § @Y uitaY & e 38k g § Sl 2

In a three phase induction motor started by DOL starter, protection against short circuit is

given by the :
(a) G T& / Over load relay (by TEieem FEelt / No valt coil

(¢) U RIS / Back up fuses (1) VFFTREH FERER / Single phasing preventer

TE-04 19 March 2019
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33.

34,

35.

36.

< e 400 V, 50 Hz Y01 Hiet il 333ma 7 715 RPM 2| w3 7 st it evean foet gnft 2
A three phase, 400 V, 50 Hz induction motor has rated speed 715 RPM. How many poles are

there in the machine?
(ay 2 (b) 4
(c) 6 (d) 8

B1ed ga At | S1ied Feail # 3oy
The purpose of the shaded coils in a shaded pole motor is to
(a)  ¥ff goeh & Sl 3t99 HET / Produce rotating magnetic field

(b) =¥ B "ZHT / Reduce friction loss
(¢0 T fes ufads =7 $57 / Reduce rough commutation

{d) =R gfaferar =2 / Reduce armature reaction

78 ¥ gl (d) W T TR | % R 98 T i 7 wiafia gt 21

The Ilumination at a surface due to a source of light placed at a distance {d) from the

surface varies as

@@ 1/d ®  1d

(c) d (d d*

HGROT TR W 11KV HT @t fiaft <ersh 3 wgor w9 8 3 & o fogaied  mm g

What is the type insulators used for holding the 11 KV HT overhead conductors on straight

running of poles?

(a) ® FS@Z{ / Stay insulators (o) i arsw 3:{1@21 / Pin type insulators
(o el 3*%1@3? / Shackle insulators () s wfi/ All the above

TE-04 11 March 2019
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37. 35 chms 3 15 ohms e Tt Sofi ofiwy § s 5V 28 99ieT @ € 9 15 ohms §
Fieeal urd feraen g ?

In a series circuit having Resistors of 35 ohms and 15 ohms, if a battery of 5V is connected
across the combination, what is the voltage drop across 15 ohms?

(a) BV by 35V
(@ 15V dy 2V

38,  smEreAl H Y (AS) § R WY H yaw wEErel o0 2A 31 5A R @t Rawiw F amq Fem % smen
aftr 8 freme arcft g =1 go

In a node having 3 branches, if the currents entering the node are 2A and 5A, then as per
Kirchhoff's current law, the value of current leaving the node is

(a) 2A b)) 5A
& 3A d) TA

39. Tfafaa snepfa § ufaes R, W dieear gia 1 91 o

In the figure below, find the voltage drop across the resistor Ro?

Fi=1000Q Ra=400

150V —_
= Ry =100 0O Ri=600Q |
| 1
(8) 20V ® 50V
© 30V @ 100V

40.  SROTICH AT IOk et § gialess qoa —
In resistor with negative temperature coefficient, the resistance value
(a) WM = ¥ 72t 8/ Decreases with decrease in temperature

(b) AIIHT §@ | gl & / Decreases with increase in temperature _ |
{c) AEM dea- 8 "eetar 781 / Does not change with temperature
(d) 3T H ¥ 1S 7€ / None of the above

TE-04 . 4 12 March 2019
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41. 3= a9 W fogaius 91 9=E 3g ITH B
———— 1s suitable for testing insulation breakdown adequately at higher potential.
(a) Tosfiea aediie/ Digital Multimeter (b)) 9iZ HIlet/ Wattmeter
(c) JTR / Megger (d) STt/ Voltmeter
42 wﬁy%mr@ﬁﬁm&%ﬁmﬁﬁaﬂnﬁammﬂﬁﬁaq@méﬂm
(2T R = 100 Ohms)
What is the resistance value measured by Ohmmeter in the figure below, if the terminals
are placed across AB? (Where R= 100 Ohms)?
A £
R :
1
|
B o |
|
(a) 100 Ohms (b)  171.4 Ohms
{c) 50 Ohms {d) = 221.3 Ohms ,
43, WET o Feve f iy A greRaTe T A s se a6 |
In Pipe Earthing, the length of the pipe to be placed in earth is decided by ‘
()  Tgt i andar / Moisture of the Soil
(b)  OE9 ° WY Gg F T/ Type of metal used for Pipe
(c) R ﬁﬁﬁ%ﬂ R &l I/ Type of Ea_rthing wire used
(d)  3TE H B HE 981 / None of the above
A4, UEY  HEER § NI 9UT TR 1 I9HT = fora fomen <t 2 |
Charcoal and Salt is used around the pipe earthing to -;‘
(a) ’{\El‘l%l’ﬁ‘%lr #H F / Decrease Earth Resistance ‘
(by Y W sEM / Increase Earth Resistance :‘
(c) YT &1 92 / Reduce the leakage current
(d)  UEY S @H " UFA / Prevent rusting of Pipe
TE-04 13 March 2019




U R RAO SATELLITE CENTRE, BENGALURU SET
il | TECHNICIAN-B (ELECTRICAL) A

45, ‘fava d v ugfe BRR o v v R0
“Fall of Potential” is a method used for measurement of

(a) gmﬁﬁa/ Earth Resistance (b) @A "feE / Line Resistance

(c) 0T / Inductance (d) RE/ Power

46.  FIE YW € T 30 WO B I B

Hall Effect Tong Tester is used to measure

(@ ACT DC 9r1/ AC and DC Current (b) DC Feea/ DC Voltage

(©)  AC dJteadt/ AC Voltage (@) 3 T/ All the above

47. g AFEEH § STZeT 2§ Far e s 3
Impurities are added to pure semiconductors to increase the

(a)  WRRYEAT / Resistivity (b) =TEal / Conductivity |

(c) i@/ Capacitance (d) 390w T ¥ HE 787 / None of the above

48. Y5 WIS T Hehal BT SR UIF 2 1!

Form factor for the pure sine wave signals is

(ay 0.707 () 0.637

© 09 @ 111 .

"TE-04 14 March 2019
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49,

50.

51.

52.

AC F 3men DC =1 467 HRIe &

The main advantage of DC over AC is

()  ®{ <4/ Easy generation
(b) T = / Easy transmission
(c) T 3 U= 3T / Step up and step down easier

(d)  F== W / Easy storage

et & & %R @ Fwn & vfonfiel & Sear e | SR 9 HeEe wEe B a2

Star connection is preferred over Delta connection in transformers due to which of the

following reasons?

(a)  Tiweal YeTEd 9 Bl & / Reduced voltage operation

(b) A T # 999 / Less number of turns

(o) =TeAehl o SR H Sl / Increase in the size of conductor

(d) 3T Tt/ All the above

frafafys 4 #9 8 vl = 3= o aumEe 2 27

Which of the following material has highest melting temperature?
(a)  AegiutEe / Aluminum ‘ (b) @/ Copper
(¢) I/ Lead () &9 (w=F1)/ Tin

fafafes 4 @ =9 9 ar 19 | 3= 910 I8 a9ar g 27

Which of the following wire gauge will have highest current carrying capacity?
(a) 18 SWG (b) 20SWG

(c) 24 SWG (dy 26SWG

TE-04 15 March 2019
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53.

54.

nh.

- 56.

Trfafaa # form o s=aw =erar et 27
Which of the following has highest conductivity?
(a) HHT/ Gold (b) =TEl/ Silver

() @/ Copper () Fegi=m / Aluminum

freafafa § @ Soy o1 Soe F@ 2T o 27

Which of the following lamp has least operating life?

(&) t?ﬁ{ﬁ'&l? 1 / Fluorescent lamp (b) q’w"ﬁﬁ AT AT / Mercury vapour lamp

(c) HIEET AW AN / Sodium vapour lamp (d) UAES./LED

CIHT THH THF 3

Lumen is the unit of

(a)  STRIST T adnreed / Light wavelength (b) Wl Fi d¥erdT / Luminous intensity

() [/ Frequency (@) <=fa 0 %ot / Luminous flux

et o Tl A i et 2

(a) . @/ Copper ' (b) M/ Bronze

{c) 'éb‘li?ﬂl Quartz (d) T/ Tungsten

TE-04 16

1 e TS 3 v 3 :

High pressure Mercury vapour lamp uses one of the following as main electrode
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57. Sl TS W AEW R B 6 %, Iokn few § arfean diced W @ R w0 FEd Bl

a3.

59.

60.

TE-04

Maximum voltage that a diode can withstand in the reverse direction without breaking
down is called

{a) ET{&I Ateedl / Saturation voltage (b)  3=AH BgRA FeLdl / Peak Inverse voltage
(c) EIE Aeedl / Knee voltage (d) I=aH Teedl / Peak voltage

T U FA | e PN S SEiE w Rew o e ot sufy S 2

Which characteristic of PN junction diode allows it to function as a rectifier?

(a) Y orfan / Junction capacitance
() o a7 Diffusion capacitance

{c) Y - gy AfFf {Pﬁl’f{ { Forward and reverse bias characteristics
(d)  TEFHY HTRET / Transition capacitance

Ge Fd=Terent T afefd Sl s7ate 39 oher ¥ 2t 2 |
The forbidden energy gap in a Ge semiconductor is in the range of

(a) 1leVto 2 eV by  3eViodeV
(c) 0.6eV to 0.72eV (d) 7eVito8eV

MWWWW,W?&WWW%,WWW@W%
] |

Often a common collector configuration will be the last stage of the amplifier before the load;
the main function of this stage is to

(a)  Seed oY 21/ Provide voltage gain

(b) el e 1/ Provide phase inversion

(c) wfdenen fer = / Provide impedance matching
(d) IWHHT L 9%t / None of the above

17 March 2019
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5. @t aRgFE TR & WAl F WAW 31 B Wl TR F forw o ofm, I A 2 Wy o Tee s % Rg wew
ek el ST foRefl T2 o foTT SIg ST QA1 TS IR AT ST

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. 9% gieaert i grfeft afic su % fpt A 7 B 7 ¢ W1 D Fufka e man 2, R OMIR iz wr, st F formm
AT AU el A SFEE 7| UH o 6 W, ITH-YH F Yedaioha 78 faram S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. AR EyTS g, T YT T 39 TG K wwl W F T Iwii fn o wwar 21 st @ e T8 far s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.
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Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. |
Candidates should sign against THEIR names only. 1
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Af the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigitator and shall not be carried by the candidate under any circumstances.
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In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall
finally prevail.
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